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QUESTION 1

A company uses an IBM Storwize V7000 with a single storage pool and plans to expand its storage
capacity.

What collects usage statistics for all the volumes in the pool?

A. Easy Tier

B. Storage Tier Optimizer

C. Capacity Magic

D. Disk Magic

Correct Answer: A

QUESTION 2

A customer with competitive storage at two locations uses asynchronous replication for DR. The storage at the primary
location has reached end-of-life.

How could the IBM Storwize Family solve the problem?

A. Replace production system and use IBM Hyper-Scale Mobility to DR site
B. Externally virtualize production and replicate to DR systems

C. Replace production system and externally virtualize DR system

D. Utilize HyperSwap with intra-cluster synchronous remote copy

Correct Answer: D

QUESTION 3

What is the architectural difference between virtual machines and containers?
A. Containers abstract the underlying hardware.

B. Virtual machines virtualize the operating system.

C. Containers virtualize the operating system.

D. Virtual machines are hardware independent.

Correct Answer: C

Reference: https://www.backblaze.com/blog/vm-vs-containers/
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QUESTION 4

Which tool can be used to quickly estimate the compression ratio for a SVC environment?
A. Capacity Magic

B. Disk Magic

C. Comprestimator

D. Data Reduction Estimator Tool

Correct Answer: C

Reference: http://www.redbooks.ibm.com/redpapers/pdfs/redp5031.pdf (27)

QUESTION 5

A customer is looking to replicate data to its disaster recovery location. The customer has gathered data about I/0O and
throughput to the storage.

Which piece of information is needed to properly size the bandwidth needed between the two locations?
A. Peak port busy

B. Peak control unit busy

C. Peak write IOPS

D. Peak write MBps

Correct Answer: D
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